Zwbiuid N1

22 Ypprpuwl b ghunuewl bwewpwph
2015p. Ognuwnnuh 25-h phy 744-WR hpwdwlh

wfuunnuljuquh
L4+ Dl‘?: fl 20!??!
W Ugquitim b e p—

pugpnupin

; _..-f'g?"'

' ZUUSUSORU BU
22 Yppmipjut b ghwnnipjui WPWNLR
nhlufwp
]

*‘d

LUNMUZUTDPY

22 4G, « &.Qynupklilgurih whijub h.190 wiuq nuiig

2017p.-h Ejundnunbitph b dwhiubph

Ywgquwlkpynipjwl hwugkl' Bplwl, 206 £-2, U.Pupuswh
22 2nnudh wigwinuip :»nu.[u.lf'z :
| Ypuwdwlwh Jhongubiph wquin dhwgnprnp wiwpbkulgphl 17102,0
| [E9UUORSUEL, wyn pynud 155289,0
1 |<<Zwipuippwljub niunignul >> dpugpny 153812,9
9 Ipunfwolinph << Unkunuynpdwt hengny npuljudnpnid
unnwugwd nrunighsiphtt hunbjuj&wnpubkph wpuwdwnpnd>»> 956,6
3  |Ywpdwyddwphbphg 95,5
4 |Pwlbh wnnlnuhg 50,0
5 |Up Ejwdnunikp 374,0
|| JoUnUGEE wyy pynud 151224,0
1 ChguUkbp «Zwbpwyppuljwb niunignul» dpuqph qdm wyn pynud 150267 ,4
Chpwghl dwhubp’ wyy pdnul 145916.,8
1,1 |Usjiwnwywpd b npuit hwwuwpbgyws wy) yéwpnudbbp 120810,0
1,2 |Ejunnpubbilpghwh dwhaukp 1500,0
1,3 |Qknnigdwh dwjuubp (Injw) jupuwjuwnnih ) 9000,0
1,4 |Qnpunuy Ynjnignig oqunybnt Jupdwy&wp 600,0
1,5 |Unpwhwinipiub Swnuynuejub Jupdun]dwp 356,0
1,6 |$hpujwé hknwunuwluyh swnwympnih 150,8
Undnihw] hwdwlupgbph vyuuwpdub, wifunwbgnippub
1,8  [dwnwympiniiibp b bdwb wy) J&wphtp 220,0
1,9 [Stunbuwljwl wypwbphbph U ynpkph Aknpppdwb Swhiukp 230,0
1,10 [9puukbywlwiht wypwbptbph b ymplph dbnpplipdwb dwjuuby 352,0
1,11 |Uj wpwquiwy wrwpywbbph dinppipdwb swpiubp 204,0
1,12 |Cupwghy ytpubnpnquwb dwhubkp 7766,0
1,13 [Twhwluht wwhywinpub Sweow)nipjui Jupdwddwp 4248,0
1,14  |Qumubpp hwdwljpupgnnh dwnwynipjnih 480,0
Uy dwuukp,wyn pyoud 1023,6
115 <<Unghwjuuybu whwuywhm] plunwthptibph Epbjuwtlph
"7 |gwuwgppbph Yyuwpdwddwpbbph hnfuhwnngnud>> gdny 341,6
116 U.H_hmtuuhp(l:]_.uumpmqp.,thmu;mmp.,hm]mu.lpmpm.p]mh
"7 law.,qnyph Ykpwghwhuwianud,Z0 dpwghp) 580,0




Zupluwht ywpunuynpoueniutikp 102.0
Ywyhwwy phnyph Swhukp, wn pyouad 33270
1,18 |Ywuyhyuy Jipwbinpngdwi dwhuukp
1,19 [2hdlwlwb dhgngubph dknpplpnud 3327,0
Cupuubbp «Uunbuwnwynpdwh vhgngny npuljunpnid uvinmgumd
2 nwnighsbbpht hulbjwjdwphkph wpudwypnuw>> gpudwzinphh
qény” wyn pynud : 956,6
2,1 (Ughmununjupd b nput huduuwplgdus wy ydwpnulikp 956.6
IV |Hpudwljub Jhenghbph wquwu diwgnpgp n 21167,0

NNUY-h muopk

NNUY-h hwpduywh

Ul.uqm]aLumh

Lhwgnp dwpduhtt ukpjuymguiwt unfuwphy] 04 nkhuntdpkp 2017p.




